CM-1000 (S/S) MANUAL CAN CRUSHER

LiST
PART # PRICE U/M DESCRIPTION
A064 500  EA. ANCHOR, WEDGE 3/8-16 X 3-3/4
~ A739 100.50  EA. WELDMENT, CM-1000 S/S W/M BOTTOM BRACKET -
A741S 1200.00  EA. WELDMENT, CM-1000 S/S FRAME
A742S ‘69850  EA. WELDMENT, CM-1000 S/S RAM
A743S 76.00 EA. WELDMENT, CM-1000 S/S DRIVE SHAFT
A744S 376.00 EA. WELDMENT, CM-1000 S/S HANDLE
A7451 1850  EA. KIT, CM-1000 MOUNTING PARTS
A7452 24.00 EA. KIT, PEDESTAL MOUNTING
B231 17.000 EA. BEARING, CM-1000
B240 65.50  EA. BRACKET, CM-1000S/S WALL MOUNT
C271 7.50  EA. COLLAR, CM-1000 LINK SHAFT SET 3/8” ID S/S
1050 2.00  EA INSTRUCTION, CM-1000 MANUAL
L089S 16.50  EA. LINK, CM-1000 LONG S/S
L090S 500  EA. LABEL, CM-1000 $/S EDLUND LOGO
LO091 2.00  EA LABEL, CM-1000 INSTRUCTION
Not6 - 100 . EA. NUT, 5/16-18 S/S HEX
NO17 1.50  EA. NUT, 1/2-13 S/S HEX
No21 1.000  EA. NUT, 3/8-16 X 1 S/S HEX HD
NO32 50  EA. NUT, 1/4-20 S/S NYLOCK
P169 . 5.00 EA. PIN, PULL L
S034 50  EA SCREW, 1/4-20 X 1 $/S HEX HD
S037 1.00 . EA. - SCREW, 1/4-20 X 2 $/S HEX HD -
S052 1.00  EA SCREW, 3/8-16 X 1 $/S HEX HD
S056 1.00  EA SCREW, 5/16-18 X 1-S/S HEX HD
S087 50  EA. SCREW, 1/4-20 X 1/4 S/S SET
S354 950  EA. SHAFT, CM-1000 LINK
$355 15.00 EA. SHAFT, CM-1000 PIVOT
$358 - 1.00 EA. ~  SCREW, 5/16-18 X 1-1/4 S/S HH
S381 550  EA. SPRING, CM-1000 EXTENSION
S428 - 24.00 EA. STUD, CM-1000 SHOULDER
w024 50 - EA WASHER, 1/2 S/S LOCK
W026 50  EA. WASHER, 3/8 S/S LOCK
w027 50  EA. WASHER, 5/16 S/S LOCK
W030 2.00  EA. WASHER, ARM & SPACER
W0s8 50 - EA. WASHER, 3/8 S/S FLAT -
WO076 2.00 EA. WASHER, CM-1000 HANDLE THRUST

I &= 159 Industrial Parkway, Burlington, Vermont 05401 « RQ. Box 929, Burlington, Vermont 05402 °
d d 509001 R A
un ¥ (800) 772-2126 - Fax (802) 862-4822  « Visit nur website at: hitp:/Awww Ellyndno nom - 03/02



http://www.cvisiontech.com/

CM-1000 (S/S) MANUAL CAN CRUSHER

REAR MIEUNTING BRAKET

F 2 rer

x

T

: I L -m 159 Industrial Parkway, Burlington, Vermont 05401 « - P.O. Box 929, Burlington, Vermont 05402 -
: d d EF ) R
un ¥ T (B00) 772-2125  Fax /802) 862-4822 e Visit ol webaite at: bty fawaey SR 000, o 03/02



http://www.cvisiontech.com/

